AL = S T&% S =)
VJ/@\GMJQW»,W am.mﬂmw = & g Qo
2 ©v 2 & 3 ° L gasss s o 8
° = ° & 8 C |6 225 O = i} &
— = L a8 L g @ WS 25T IR s || N2 =
c (5} 5 = o S 9 a £2£/2/ 3|3 wn =Z <<
o c o S O < x 3 o oTf s 2|2 — = = >
N N = c c O o = m© O SEw Q8| 8 - > = =
2 5 L c 2 2 8 ¢ 3 o N R B w N = N
g 5 B 5428 = & e y 9| 3 =) =
2 8 g ©» o g o0 0y D & a o)
@ = 2 Lo g = gun S < o 18 9
g 2 5 3 3z £ 3 3B © o0 83 S = )2 2
o 5 o > > > =T o o £.2 sl3lgll O @) @)
5 5 & § 6§ 5 o & & O W £s/8| 3 Q @
= 2 = = = = ¢ = = 2 WMW%UM N
883 & 55§ ¢ 8 S NS =
$dz & B 33 38 35 & | & 02 5| & S
©% o o o9 o @ = Do 2= g 5 =
. 9 a o o o a o o a m m g ~
= 00 I T N R g N = 2
= 28| n|| X 1N
3 [~ FEIEIES =
= 7 - = : g L 58|z =
I S 3 HEE
S 3
S S ELE 2 - |8
s |2 5|58 s Z
2 S AR AN g g 3
5 8% g &2 2 2 &
o
3
+
= 89'766+0=W -
@ A S N MINNSAY AZOV3 6SYCL 9542l 00 00:00-—
= 89'¥66+0=Wy =&
98" 166+0 W O Fnm 2|3
DO1UIbIg DILUOIOY ¥1G3ISO D3INOA U h7i= _ -89 Y2149 T 100 g% L0006
SECEET0 205 7g VR AR LR AR SVR AR -86'G8
Sy'G86+0 Wi L YTIASLYTI 200 - L0008
GMOY | SMAX 19040 MINVMONY1d JINIZOVIM -
= 00-096+0=W 68 YT IS8 Y 00°0 - -00°0/
@ 18'v2l=4 8Vl
76 Y2126 Y2 100 -00'09
@ 00°096+0=wWX
= Lgyei=y -C0'GZI66 %211 £0°0 000G
HLL'GZ1-H90°GZH GO0 - 0007
160°GC
S
@ 00°026+0=W -61'GZ1-91 STt £0°0 - =15 -00°08 1
= lg'sel=\ \ S [ ®
Ew
- 182 °GTI62 ST I 100~ - -00°0Z
@ 00°0¢6+0=ux \ F9¢°GC 1A °
= izsel= H € STIBE ST IHE0°0—- L0001 S
\ z
\ GV STy ST 00— -00°00 -+ —
5 00°088+0=Wy HG'GZ -GS ST 100 -00°06
= §gel=y
Z9'STIHHSTI 100 - 0008
S|
S _00088+0=w 2R
=4 = HLGTI169°6TH 200 48 | T 000/
£/°6Z1=yY el e el e ___ | et | G/
(57980 =05 74 LGP L ST 00— 1 | L 1o 0679
) 62°798+0 W H6/'SZIHSLSTIH GO0 i [rooosA
093INAZ3r-0ZS31d NavID FINFZOVIM INVMOLMIr0dd = w %/
S 04'098+0=Uny L ) . . S| .
3 T 188'GZ 164 ST 60°0 - 218, L0006
10857 i
66'GZ1= \ H/6GZI198°ST I LI 0001
e TR \ H66'GC I-68'GZ I 01°0 - _
Ef—= 150'921-+96'GZ 1+ 60°0 . L0005 -
@ 86'7¢8+0=UW) W E ] = _
= 20'92L=y ] | e g & N ) :
B e 192 1-80°9Z - 90°0 - | -00°0Z
m . . . _ . o
22921819z I ¥0°0 ; L0001 g
i +
297 _ °
S 00°008+0=Wy . . . : .
@ e - Lie'az1+62°9214 20°0 - _ -00°00+——
16292 H ;
\ V9218897 1 20°0 - | 0006
18V 921 v 9T 200 - - 0008
| I
) -
= PO'0LLHO=UN | =
™® - L/C i . 1 ‘N 4 N~ N - N -
® e — [59THEG 9L €00 k! 0002
c
15992199z 1+ $0°0 : -00'09
997 _
7L 92 1-469°9Z 1 GO0 - _ L0006
I — 619711592 H 100 _ G0
= 000 L4020 H28°9TIHLL 9T GO0 - . -00°0
= 6.'921=\ _
c 8Y'8CL+0 UM , -88°971128°9C - 90°0 : -00°08
EEED® SMOY 19040 FINVMONY1d JINIZOVIM i €€ |
©53883 wo6'9z1=2y | 06921188921 500 /| S : y 89°0¢ |
=¢8ss : e 06 SIS SCIT G010 (= € | K 0007
e 02°8lL+0=WH /,/ e .
[an) - o
88'971=4 H68'92 1458'9Z 1+ 70°0 0001 S
T07T0 = g 198'9¢H ¥8'9C L F $0°0 - ey 0001 %
< cg'9z1=y H8'921-428'9Z 1+ £0°0 % [ 0000 -
SETaSTOS i 108" 9¢ 64" 9C I ¥0'0 1 Koesst
18197 I-HLL 9T L0°0 - 0006
@ 00'G/+0=W / eR
= 09'9z1=4 FLL9Z1IH6S 9T LIO A 18\ 0008+
—r L-oo.mm-
5 ¢6°0/9+0=uWX
g 90U | = 992 TS 9ZH 210 - -00°0L A
9709940 Wy : i 5|
IMGY 19080 FINVMONY1d JINIZOV T g g L caziborozil 210 12 | S 0009
I E 4 N n . 1S
c 3 = %7 8 =18
% mm.N.VO-TOHEv_ m LILALI _________“ ________ __________________ TTTT . 1 . A1 . ] XK Z | . n
&) sy w_ o 1059714297 - 80°0 AE 00'05
0 —
= ——" oY 9TI-H0V 9T 20°0 - -00°0%
= 8€9¢l=4
0c9z1=Y F92°9Z 14669 1H-£0°0—- L 0008 ]
» GCgc9+0 un £6°92910="01 d [££°9CI8C9eITS00 K 1697
093INAZ3r-0zS31d N9vID . . . . .
-w H0£"9Z 1092 IH-01'0— H00°02
JINTZOYIM INVMOLNINOYd Y |
ege§ : / EE .
5 S 60 SQ0°049+0=Wy , L reorilerarilorn. | E5 L oool]| g
K . 1297157921810 =
25833 2 waa  ugenw T & 9¢H8Y 91610 B o S g0l &
MR @ 00'86G+0=WY /4°609+0=Wy | | i e
R .. 971 = ax
= @ gedei= | " 629z 14259z 1620 00°00-—m—
96'76G+0 WS/ L 9¢iTd | LS 9Z11SG 9T T 01 SRR
< DOIUIbI4 DILOOY V103ISO M3LV¥Z00d (C565+0 -wm_.@ﬂ-; ‘ DN B ey , 0006
77885 +0=WM did \_ \_ 92 9¢17869clTee - N 2288
oY 921997 1020~ 0008
@ 00°095:+0=y -26921--99°9Z 1710+ 000/
= ¥6'9¢i=\
H09°921-0L9Z 010~ -00°09
@ 00'09G+0=WX
= v§9el=4 6992145/ '92 14900~ 00061
197
FLL9THBLITHI00- ¢ -00°0%
I
s(3
F98'9Z 1189211 500 1T [ | -00°0¢
5 00°€1G+0=WX . . . .
g TR 7692 1--98'9Z I+ 60°0 - -00°0Z
168°97 1
— 00" LTIHL6'9ZH 90°0 - Loo0l{ S
< 3 00°€45+0=wy +
S < = 969214
= = e - FLLLZ1H60°LTH 2070 - -00°00 -+——
v_|| O 5 00°G8H+0=W) QE /W_ g) N de NANAAS
w % W w—«.NN_\"_.‘_ my _I_________l_w.ﬂu______ ______n”u_ _________ ___D_I_D_I ION.NN—‘IION.NN—«II OO.OI IOO.O@I
<7 00°681+0=W} =
N @ 811211 _F D © 0008
I$°L21=Y [ P e LertgT [ ]
W._ ccec SV LLy+0=W d7N \ Fle 22 - "
£ £ :
+ 93888 80 /sy 12500 S S\ = | 2 p 00°0L]
_ = o m w o Y LT IH FG0'0—+ m o % 23 N m_:vﬁml
S T oG£ H T2 .
= Jesa 95/ 71=4 f S /215G LT 100~ - y 0009
5 97 5P H0=U did \ 8SLelTes LeiTioe o'LS]
> HLLTITL LT 000 - -00°05
O Q 00°Gyp+0=wX
o = [INE{E]
- S 00°p+0=Wy H06°L2I-06°LZH 00°0 - -00°0% 1
W = FHE] H66°LC
& -80°82I-+£0'8Z 1 100 - -00°0¢
o
H2'8TI-ST8TH 20°0 - -00°0Z
. RS
@ 00°G0p+0=wWX ¢ '8C1H Mw % 5
= sreci= SY8CILY 8T 00 A [ T F000L4 2
HY8T 1 A 5
@ 0050740 982119821+ £0°0 - T 0000 &
= 87'82)=4 r0L'8¢H § v
P
-28'821-H18'8Z 1+ 20°0 - s/ o006
v
H0'6Z1-H0'6Z 1+ 000 - 00°08
57'621=Y -91'67 11 ; .
L0798 +0=U dIN | 6162145267 1H+00— _ ¥ 000
G2 621182 671H€0°0 K /0291
£ 96+ .
c S > 86 79€+0=W Lcr71idlny r71Lenn— Lnnno
£ m £2 2 e L£°621107'6211-€0°0 £ 5 | 00°09
2532d 0Ce40 W L9762 105 62 H-70'0—| S | SANTE
R 0¢ 066 +0_ 1 1662116567 H 700 \dL 1) -00°06
S 093NAZ3Ir-0ZS31d N9YI0 3INIZOYIM T0dd o
196¢1=4 11962 1796211 £0°:0— _ /LG
(G TVE+0=UN d1d £69'6¢1F69'6¢ 1 ¢0'0—] : e
¥9'621=Y P ¥9°621TG96C1T10°0- _ 288
VZBESTO =Ub S S 89621 ;
@ 66 7EE+0=W) r£L'6C69°6¢1 ¥0°0 A _ -000¢
= 2962i=y H0L 621 \
£ £S5
£86216L 60k 100 115 [ adB S = -00°0Z
62 — [ =t ™
G862 ) gk _
066216621 100— 1 [ : L0000l g
SN £6'08+0=Un) . ) p
= 26'62k=\ — H00°0¢ H |
£0°081=Y £0°051160°081.| 7070 ; 00004
2 66C+0 =W MId C0°0¢ TS0 0g I ¢00— _
l9°621=4 Lgoetlzioet] 100- . 106
/G 19S+0=WY did e [l5 CLrochTrl0elT 00— | 00706
eLsizto w2 e ol N H
01'ZI91 7I"'S3S0d 00 1©0Yd IINFZOVIM INVMONV1d © 3| M nw mw nw 02 0¢1H02°0¢ 14~ 00°0 | 0008+
1\______“__ ______________________“________
Wzz ogL=2y | S ol . | .
1£°0£Z+0=Wy 22 0 HGZ 08 6070~ el 000/
Eced | =lsl
28 @ | oz ositozoc 0[S & [ | B ¢ 0009
€529 @ 66 52 +0=W) , 8L 0e118L0g L+ 000 1| § = K 19°96
o = 1110gk=y VN i i
e \ LZL0S L os 10— 4| T _ -00°0
\
/ N
H66'62 --10°0¢ 1-+20°0—- | -00°0%
@ 66°7EZ+0=U) — :
= 68'6z)=U //I |
2671t i -78'61-68'67 - £0°0—- : -00°0¢
. _ - L7/ i . dc00-4 | Lcgc7 4
e wmucmm_l; €9°GZ2+0 =Wy 74 /”/ .mw.mmw..mm e -mm.ml _ -mwmmmmmw-
LG 7EH0=t did 6562119967 1-£0°0— | ooor
¥2°022+0 W -09'6¢ |
100MZ 190490 3Z0WIM INVMONV 1d s 9c62 10167 11100 | Loooid 8
« 00°0LZ+0=uX : m.v
= 0€'6cl=u
\ -21'621-60°62 1 £0°0 - | -00°00
. 5682 I <| &l
= 40°061+0 =Wy ,[ ortlacoril cnn = | 9f P
@ . 4 -68'871198'87 -+ £0°0 g 0006
&1 |
- g
1G9'8TITE98TH 200 { S|ae . -00°08
o8 _
3%
@ 09'8Y}+0=u rAATAE A TAR AR Bl | -00°0Z+
= ze8zh=u / :
-81°821-£7 '8 00—+ | -00°09
20'871=Y / . . . | .
. 0 120821 £0°8T ) [-50°0— . 6825
GECELH0 =W 1G6'£21H0°8214-90'0 c g -00°06 -
o =
S 09'8p) +0=Wy ey S sl
= S oy \ g8 T o0 | L 00°0% -
SO0 =W g \ 49 L2 1HHOL LT 900~ N -G 9
P \ 06171195 /7 1H£0°0— . L y1e
. = v LS [ 100 _ £00°0¢
002810 =W dZ v ¢ H el
@ 0121 1+0=u Els |
S0Leb=4 H0Z L2167 LT €00 2| F00°0Z
A= sAWKAE ER il
@ 1801 +0=W \ AR | 5
= S/921=4 \ 69216 921001 ") | : 000l 8
f— 892 11-98"97 1200~ _ 09904
£/'960+0 W v oot _ °
DXINPIJ N Z SIUDMOZAZINS \ 199'921199'9Z 1+ 000 = \| -00°001
¥5°921=\Y \ /G 97 14AG°9714-70"0— Zc L 9/°G6
. N BLS60H0=WN 1) / 759Cl ANGEE
55 E= 659715 929001 S ) [ 7 0006
23893 / S B4
NSNS 2 ) 18 180+0-W) 07°921.HE 9211 N /|
T = 0c9elle 9¢l] | S |
OE s - 29 ,_A svozi-u_|\ MMMM bu.mu_ wwm- u : mmmw
VSL0T0=W1 did £279L0+0 =uM Mid \ ress | 000Z
3 p— umm.mN—Hm.—bN—Hmelu : / E
= £6°GCl]609¢CL “e\w _ N 4/°99
. =\ 2 1S
@ 96°£90+0=W) 2\ZE | 5] :
= 185214 ! 8Lzl e Gl 0-1 R \ NS | S| ¢ 0003
// SANTAL S NTAS Y AA I B B & 7_L_u : K 62°9G
09'671=Y . . o .
USTO S = HOR.SGTOL ST O10 _ 0000
@ 18 L70+0=UN /— FCS'SCIH9°GCI160°0— _ 60
0g5Z1=\ L/ '52142S ST IS0 0 : L 00°0% 1
25°G6Z1=Y L9y°GZ - e\ s X
95 TR0+ =W NI o o\ & |
@ 19°220+0=U| \ mmmmﬁ%@ﬁ: 10°0— 1 fo,d, W m mu -00°0¢
= 9¢'qck=y ST L0$°GZ - pal %%_
91'671=Y == erlorreril 1nn ] S [P
[v7I0+0 =ui d7 s | [EesekEesehy 100 a L_ 000¢
@ L SS=—15 S =1 torszifelszi4 €00 - : P
NO.@N—‘HS m ‘-____ TTTT T T T maIomaIoma o o aTomaimamo oTomaoTTTT IMO—‘HMWWIIM%HMW—FII wwuwl IOOHOFI m
85°£00+0 =M >Id =1 05 - 000 . 05201 2
S8 vZl=Y F96 ¥ C1¥6 ¥ 11 2070 o|w /ﬂ,«w -00°00+
¢700+0— =W > / . . o E\slS i
= €671 0+0-=Wy \ Hmmwmﬁ%mwm WH _moolu _W _m 3 W 0001~
00°2¢0+0— W @ Zlel=y ﬁ \ .\W_m m%../
MAMIINLAZIZS TN AMOANd3Z¥d M3LVZ30d ~ 8Y'T10+0-=Wf . . . WA BR .
. 89421489721+ 0070 x A 2. (0002
00750+0— Wy @ Slwel=d \ 99 7¢I YCIT 000 T = mks
0930V IINLST NNVIS 00 JINVZYIMVN : 99 vel=d / < | SlmNoc/z B
Se0+0— W ¢L120+0— =N Hid \ S YT IS YT 100 Z | 5566 ©
6v 6:0+0— Wi —1 F0S 21 0S¥ - 000 |5 kooeed
VINVMOOVYdO M3L¥Z00d / I utesl
.\wuﬂ_u.\(_w ﬂ_u ﬂ_u "ﬂ_u" ﬂ_vuqu 5 = e S
M o~ ~ e @] N~ [de] 'e) < M o~ = (e
w2 B 8§ & & & & o & & 9
= ~|8|€|%
ST\ §|lglelz
NI S| |B|2E| 8
“E |2 | Y| S| Z|l= |8 |w
Ol o @ <5} < k< = 8 =
o | c L o) ) = > o
S| B|S|E|E|8|2|5
= | N N [ o | @ | © N | © 2
Ol | ¥ | |w|w [ | O ~
~N
o
(e




